

STUDENT - FACULTY RATIO

S.No	Academic Year	Number of Students	Number of Faculty	Student - Faculty Ratio
1	2020-2021	1458	90	16.20
2	2019-2020	1305	91	14.34
3	2018-2019	1160	89	13.03
4	2017-2018	1053	98	10.74
5	2016-2017	1155	98	11.79

PRINCIPAL Principal Santhiran Engineering College NANDYAL.



STUDENT - FACULTY RATIO

AY:-2020-2021

Name of The Department	Year	No. of Students	Total Number of Students	Number of Faculty	Student - Faculty Ratio
	II YEAR UG	146	358	18	19.89
ECE-UG	III YEAR UG	114			
	IV YEAR UG	98			
ECE-PG	I YEAR-PG	05	18	3	06.00
20210	II YEAR-PG	13	10		
	II YEAR UG	130		19	16.16
CSE	III YEAR UG	109	307		
	IV YEAR UG	68			
	II YEAR UG	63	166	9	18.44
EEE	III YEAR UG	57			
	IV YEAR UG	46			
	II YEAR UG	31	156	11	14.18
ME	III YEAR UG	63			
	IV YEAR UG	62			
MBA	I YEAR-PG	55	114	11	10.36
	II YEAR-PG	59			
	I YEAR-UG-ECE	127	339	19	17.84
	I YEAR-UG-CSE	124			
BS	I YEAR-UG-CSD	61			
	I YEAR-UG-EEE	27			
	I YEAR-UG-ME	0			
TC	TOTAL		1458	90	16.20

PRINCIPAL Principal Santhiram Engineering College NANDYAL.



STUDENT - FACULTY RATIO

AY:-2019-2020

Name of The Department	Year	No. of Students	Total Number of Students	Number of Faculty	Student - Faculty Ratio
	II YEAR UG	116	276	18	15.33
ECE-UG	III YEAR UG	98			
	IV YEAR UG	62			
ECE-PG	I YEAR-PG	13	13	3	04.33
LCLIG	II YEAR-PG	0	13		
	II YEAR UG	112	266	20	13.3
CSE	III YEAR UG	68			
	IV YEAR UG	86			
	II YEAR UG	59	136	9	15.11
EEE	III YEAR UG	47			
	IV YEAR UG	30			
	II YEAR UG	64	165	12	13.75
\mathbf{ME}	III YEAR UG	63			
	IV YEAR UG	38			
MBA	I YEAR-PG	66	147	11	13.36
.,12.1	II YEAR-PG	81			
	I YEAR-UG-ECE	131	302	18	16.78
BS	I YEAR-UG-CSE	128			
	I YEAR-UG-EEE	17			
	I YEAR-UG-ME	26			
TOTAL		1305	1305	91	14.34

PRINCIPAL Principal Santhiram Engineering College NANDYAL.



STUDENT - FACULTY RATIO

AY:-2018-2019

Name of The Department	Year	No. of Students	Total Number of Students	Number of Faculty	Student - Faculty Ratio
	II YEAR UG	98	223	19	11.74
ECE-UG	III YEAR UG	64			
	IV YEAR UG	61			
ECE-PG	I YEAR-PG	0	1	3	00.33
20210	II YEAR-PG	1	1		
	II YEAR UG	71	251	17	14.76
CSE	III YEAR UG	89			
	IV YEAR UG	91			
	II YEAR UG	49	106	9	11.78
EEE	III YEAR UG	30			
	IV YEAR UG	27			
	II YEAR UG	66	158	12	13.17
\mathbf{ME}	III YEAR UG	37			
	IV YEAR UG	55			
MBA	I YEAR-PG	90	158	11	14.36
11221	II YEAR-PG	68			
	I YEAR-UG-ECE	92	263	18	14.61
BS	I YEAR-UG-CSE	109			
22	I YEAR-UG-EEE	26			
	I YEAR-UG-ME	36			
TOTAL		1160	1160	89	13.03





STUDENT - FACULTY RATIO

AY:-2017-2018

Name of The Department	Year	No. of Students	Total Number of Students	Number of Faculty	Student - Faculty Ratio
	II YEAR UG	73	212	18	11.78
ECE-UG	III YEAR UG	61			
	IV YEAR UG	78			
ECE-PG	I YEAR-PG	1	1	3	00.33
LCLIG	II YEAR-PG	0	1		
	II YEAR UG	95	262	18	14.56
CSE	III YEAR UG	98			
	IV YEAR UG	69			
n e	II YEAR UG	31	88	10	08.80
$\mathbf{E}\mathbf{E}\mathbf{E}$	III YEAR UG	27			
	IV YEAR UG	30			
	II YEAR UG	35	175	15	11.67
ME	III YEAR UG	61			
	IV YEAR UG	79			
MBA	I YEAR-PG	80	122	11	11.09
111211	II YEAR-PG	42			
	I YEAR-UG-ECE	74	193	23	08.39
BS	I YEAR-UG-CSE	77			
	I YEAR-UG-EEE	16			
	I YEAR-UG-ME	26			
TOTAL		1053	1053	98	10.74

PRINCIPAL Principal Santhiram Engineering College NANDYAL.



STUDENT - FACULTY RATIO

AY:-2016-2017

Name of The Department	Year	No. of Students	Total Number of Students	Number of Faculty	Student - Faculty Ratio
	II YEAR UG	62	278	19	14.63
ECE-UG	III YEAR UG	85			
	IV YEAR UG	131			
ECE-PG	I YEAR-PG	0	5	3	01.67
LCLIG	II YEAR-PG	5	3		
	II YEAR UG	104	225	16	14.06
CSE	III YEAR UG	76			
	IV YEAR UG	45			
	II YEAR UG	29	121	11	11.00
EEE	III YEAR UG	35			
	IV YEAR UG	57			
	II YEAR UG	60	214	15	14.27
\mathbf{ME}	III YEAR UG	86			
	IV YEAR UG	68			
MBA	I YEAR-PG	45	115	11	10.45
	II YEAR-PG	70			
	I YEAR-UG-ECE	70	197	23	08.57
BS	I YEAR-UG-CSE	102			
20	I YEAR-UG-EEE	10			
	I YEAR-UG-ME	15			
TOTAL		1155	1155	98	11.79

PRINCIPAL Principal Santhirard Engineering College NANDYAL.